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VI Semester B.Com.2 Degree Examination, May 2016

(Regular and Repeaters)
INDIAN FINANCIAL SERVICES
Time : 3 Hours] _ [Max. Marks : 80

Instructions/3ezadmed ;

1) Answer all Sections subject to internal choice.
0307 eahndrt ooy e Jeennya) evgolo.

2} Question No.11 {Case-Study) is Compulsory.
o8 1158300 (G506 IZcaA).

SECTION - A/awen — @
1. Answer any ten of the following : (10 x 2 = 20)
3YNTJridd Wewod IY, ev3020 :

{a} Mention any two features of services.
‘A3 QR TOBTR DTRED OFEANIT, FAWD.

{b} Write any two fund based financial services.
ARodRgRds Bwsemd FeSndd alnZ)e HOBED) WS0%D.

{c) Name any four acts regulating financial services in India.
pRU3EY FeFAT ST, A0DOZROT 0IH)TIWOR T, FIFINFT), BOD.

(d} What do you mean by merchant banking?
IZET 239,030 HOTTERO?

(e) Mention any two powers of SEBI over merchant banker.
ST 239,080 Soed ‘ZL ady adnZ)de SVR ¥RTTNYR), BeUWD.

()  What is sale and lease back lease?
Se0ets Sody Sdoriesd HowTeR>?

——
v
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(g0 Write any two differences between purchase and lease.
00D F03) riecdndd VBT VB> FHANITY, wSaWD.
(h} What do you mean by limited factoring?
Q033 mﬁﬁﬁbon‘ doBTeRO?
() What is dematerialization?
B2703050 8 Hordesd?
j) Write any two functions of depositories.
FOMYETT CINZ)WIWTOR HTRED TGN, 2B
(k} Write any two features of credit rating.
33T Zeed AFFORITOD adnF)Te H0B> F LRIy, B,
() Write any two benefits of credit rating to investors.
B3 Beed APFOROIFT0VT BeBTECIR Bedoivus adnIde FodnecwDnedsy,
wooD.
SECTION - B/ 2%en - 2
Answer any three of the following questions : (3 x5 =15)
Bezd R0 BFRIN suddD
2. Briefly discuss the benefits of financial services.
Be5aR) Felnd T alecnrridn), dogmmen e
3. Distinguish between goods and services.
AeSrieh S0 3TBOTY TEIAT J IRy, WD,
4. Discuss the types of merchant banks based on the nature of organisation.

R0ER 00 IVATT SITT IIFT W05 MY JFIONYRY, WA,

5. Briefly discuss the objectives of factoring.
:;Yazsﬁ 500r°T euTdeanY®), RoggmeN we20.

Discuss the process of dematerialization.

SLP8eTTeT 38000 1BLBF2D.
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10.

SECTION - C/2won - 3

Answer any two of the following : (2 x 15 = 30}
SYNTH)nS) Wezord SO, V30D :

Discuss the features of financial services, Narrate the phases of development
of financial services in India.

DGR FeSny Oﬁa‘aﬁ%‘d& WBEAD. 79038 Bwvod JeSny zedrod a‘:’oair'i!:h‘\'l,')aL
DT,

Discuss the advantages and disadvantages of leasing. Mention the features of
operating lease.

rfeedodd FoleenaneR), IR OTIRTAOINYRY, 212D TOUYET riesdoly oY)
202820

What is forfeiting? Mention its advantages. Discuss the differences between
factoring and forfeiting.

PIOFeLI0NF DoBBeRO? BT @Qﬁfa(‘tsﬁm}iﬁg{ 2RV FBOOT® ) HpOSFHetlortniy
:'%saaesﬁr‘i%*d.l 2323620,

M/s Ajay Trading Co. sells its products on credit basis also. During the year
2014-15 its total credit sales amounted to Rs. 64,00,000. Their average
collection period is 3 months and the experience shows that 4% of the credit
sales results into bad debts.

They enter into a contract with Sharad Factors who charge 2% commission on
the net advance made to M/s. Ajay Trading Co. The advance is to the extent of
90% of the credit sales and carries 15% interest per year,

The estimated cost of collecting credit amount per year is ahout Rs. 1,60,000.
M/s Ajay Trading Co. wants you to make the cost benefit analysis of factoring,
0. wzod eeBont Fozdodn 39, ATTONYRY, euBdod SoeSode S0 BB

2014-1580b IRFBY BI0O wed), Ba. 64,00,000 YD, evgd Bnvets IPBGT. ¥ST
F0oR0 euriDd IRewed BIBoI 3 ot BB ) WS vRSTR (4% TRy) evwd
R[R00t3BY Be. 4 ORy, #e3 (IBReNT) FOANCOZE.

AT ©=0 300° REoTRecdt wien SRBTAYIFYT. 3T ¢ FoonEs e
2% TR, BRI IPRTT. Wb, BVED S0kBA 90% Ty, Svon® e, Be. 15 oR),
WEBODHR), B3R3T.

NTO I3 MTnd vowezd aﬁasu&z{?s; ow. 1,60,000 Ny NI

3. vwod Eelort FozQob=3D a%seponsci ;Sza; Jodnexsng &{eﬁa’o@ﬁg{ a’:!)%/oci
WOLRTT.

3 P.T.O.
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SECTION - D/adyen - ©

Case Study ~ Compulsory question : _ {1 x15=15)
BT eqso.bas - 6mﬂai> ;'3*5;:

11. M/s Rajendra Projects Lessor Ltd. is considering the lease proposal having the
following particulars :

a) Cost of equipment Rs. 8,00,000.

(

(b} Average cost of capital is 16% .

(c) Depreciation is @ 20% on straight line method.
(d) Life of equipment — 5 years.

(e

—

Lease rent Rs. 2,50,000 per year payable at end of each year.

(ff  Lessor is in 50% tax bracket.

{g The P.V. annuity of Re. 1 for 5 years @ 16% is Rs. 3.2743.

Suggest whether of proposal is beneficial to lessor.

0. verdeor, HPUWF, SI0° O By FINT DIoNYRy, BeodE resdodd T3 0OR,
S08edz03c8

(a) =uWE Fu de. 8,00,000.

(b) =0eE0 woB=IYE Hw Fe. 16.

(c} aSFLOLRY Bded THSodG Be. 20 TR), SFROT]YT.

(d) ~op3d Eadsd o330 - 5 IRendo.

(e)  rleedody woBrtodn B8 IIFT, 8. 2,50,000 nYR), 333 B ZSITw.
(f)  riecdezaodd Be. 500 3011 30T,

(g) 3Be 16 O 7B38 BOB03 IWB BPe) da. 13,5 IAFNIA Cw. 3.2743 nYag.
8 w03nda) 0N, rieed DerOPHT FalresiveobzSe H0LBER), 0 JeBD.
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VI Semester B.Com.2 Degree Examination, May 2016
(RCU Syllabus - Regular and Repeaters)
INDUSTRIAL ECONOMICS

Time : 3 Hours] [Max. Marks : 80

Instructions/Zeesdnel :

1) All sub-questions should be answered at one place continuously.
Quote facts and figures to support.
DeR, v FEPt wodde sd VT wPaVD. ©SZ T wod-eogrideodin

DeX) UIOTTY) FOPEZ0.

2} Answer to all sections should be written in the same answer
book.

DR, DI/TNY SVITIIIA) 2odfe OVID T3FADE WwTFaVD,
SECTION — A/ — @

1. Answer any ten of the following questions in 2-3 sentences each : (10 x 2 = 20}
39N Wewow B I3ridrt 2-3 mgnqqmam :

(a) What is industrial economics?
3 Mol UBETIR, HoBTED?

(b) Define joint Sector.
%0030E FOODLTR), 9030

{c) What is privatisation?
a3RNCTT I HoBTBEROT?

(d) What do you mean by MNCs?
WD oaé.gab FOBAINLY 0w3eRO?

() What is e-Governance?
R-BBYZ H0BTERO?

() Expand SWOT.
SWOT®), H30% wdawd.

(g} What are ‘ubiquities™
3363, o, IMDH)?

(h} State any two objectives of industrial policy.
ﬁdnaam PReOFH 0L adEe HTEY emqaezmvéalgt 392,

1 P.T.O.
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()}  State any two external sources of industrial finance.
,Mo0% B0TedT WRTBER HTES WRE, zimoﬁdaii YD,

)  Mention difference between gross and pure materials.
BRL I3 BT Fe5 K0TS 203037, 3920.

(k) When was EXIM Bank established?
EXIM 439,080 adoowari BT II0Z)7?

() Give the meaning of foreign collaboration.
ABed IBOYRENT vFs JeRD.

SECTION - B/2en— w

Answer any three of the following :
SYNT Wewan Sue0d, eugdd :

Explain the factors influencing Industrialisation in India.
030 i%n‘aﬁeﬂe?:’dmd 308 F203 Devss eoémiafgt 3030,

Explain the role of public sector in the Indian economy.
7030 e E3AL IFHAT IeodT m:;{,dabnt 2029,

Discuss the merits of MNCs.
WHBY Do £0d> Bomdrie (MNCs) v&ﬁmo@ﬁeﬁr&l 323620,

Discuss the problems of small-scale industries.
s, §reddne 33)‘;%?1@@{ 328 20.

Explain the Sargent Florence theory of location of an industry.

BT 083 2RTV'T 3,md%e 3(3@6699&3 za%ossai AI020,

SECTION - C/9zn - 8

Answer any two of the following :
3YNS wievond DOBY, qu3DD :

Discuss the factors inhibiting industrialisation in India
(ARleE AL} %m&e&cﬁdmﬁ S208N00S ©03rids), 13D,

Examine the main features of industrial policy of 1991.
19913 &mdss dedod J30w OFONYR), T0Zed2d.

Examine the Alfred Weber’s Theory of industrial Location.
BFFE* JwoTY §mdse Pedcng AT 03T, BOBeHD.

Discuss the various sources of industrial finance.
g M5 Bnwds Y MOWQ 2323620,

2

AR 0

(3 x 5 = 15)

(2 x 15 = 30)
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11.

SECTION - D/ %n - @

Case let : {1 x15=15)
A3 HQBRT :

The Information Technology (IT) is the fastest growing all over the world. It is
serving as an engine of growth and prosperity. It has turned innovations into
opportunities. It is creating more jobs, new business and added to the
Government tax revenue. The entry of Global IT companies 1S posing new
challenges to the Indian IT companies. The policy of the Govt. of India is
towards favouring the IT industry.

Questions :

{a} What are the advantages of IT? (5)
(b) Explain the growth of IT industry in India. {5)
(c) What are the major challenges of the IT industry in India? (5)

SRed Iogwan wdner o3 ede SePToN WeaLIT Jwob. AW OIS ES)
W wobd 003N, B BI=ONYR), wITodrivaef I0S3FB. 88 Jead. BUS

'wdj%emdﬁéﬁ@' ADRE LY BAD J3F0NY A ) 05O WRTITR, By 301

SOZT 3co3AY. rids IT FozINY ISed 03 IT so3ANYN Be3 Joe0nYdy,
2R0RT0Z INRT. 47203 ITHTT Jedodwe 88 S0 303,25 B3V, BV3 2ROT N,

BB :

(a)  SR&3 3032RTE I odeentnivam)F? (5)
(b)  2eU3RY Iwés 303259 )F oudSoad WYt adr), H3D0. (5}
(c) 2030 3058 30327 LUBRINH BIVD BEVEVNVT? (5)
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Reg. No. ﬁ‘
VI Semester B.Com.2 Degree Examination, May 2016
(Regular and Repeaters)
Paper - II : COSTING METHODS AND TECHNIQUES
Time : 3 Hours] [Max. Marks : 80

Instructions/Zeudlnie :

1) Attempt questions according to internal choice in each Section.
F3aleow D 20308 SoNOTT S, G vz 030,

2) Working notes must be given wherever necessary.
eagagg g T eI W NR0.

3) Use non-programmable calculators only.
wovt-ZR o I 5y ey detiom) evsalechiey SROSOIAD,
SECTION - A/den—©

1. Answer any ten of the following : (10 x 2 = 20)
3INTFried tevats $3Y, ov302D:

(@) What do you mean by unit method of costing?
Pev 313 S3S D0RBeRO?

(b) State any two objectives of job costing.
9B rH3rdod I, HeorodT alRI)TECR STRY eveBneds), BIOAD.

(c) What is scrap? How is it treated in output costing?
rowd QoEdedd? VEw), P 33 IRS0HEO, Bert IonedoN0?

(d) What is contract account?
13 9393 HoTTeRd?

() What is work certified? Where do you show in contract account?
q@cﬁbﬁd Foz donveRO? ':tda&gl ro3n 373008 > 2ReBdRIQ0Y?

() What is operating costing?
Bz 3 deorad I3 20TBeRO?

(g What is composite cost unit? Give two examples.
Boodwg B e QOBBER? DB LTRBIHBER), EBD.

(h) What do you mean by process costing?
®03 ;Stsm&sss‘ai) Gl DOTTERO?

1 P.T.O.
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{i What is abnormal gain?
OGO H g9y Hondemn?
(G) What is B.E.P.?
zmsﬂ DO oBBeRO?

(k) Mention any two uses of marginal costing.
B0uS SuD Wetr HoB evsaleerinds) SS0eB0.

()  Name any two reasons for preparing profit reconciliation statement.
[SrYA] ﬁmaob ;ﬁgsabal‘)* 30idien e n H0@> Fad&rwal 23020,

SECTION - B/&gert — w
Answer any three of the following : (3 xS = 15)
FeNTHIE) wevan I0e0E, ougdD

What are the reasons for disagreement in cost and financial profit?
msu JFT Bore BTaRD BRTNY eyindd Beowaesd eﬂmmg HOHREIN?

The following particulars are extracted from the books and relevant sources in
respect of Mr. Sanket and Company :

(a} Estimated material cost of job No. — 106 is Rs. 1,00,000 and the direct
labour cost is likely to be Rs. 20,000.

(b) In machine shop it will require machining of German machine for 10
hours and Isreal machine for 6 hours.

(¢t The machine hour rate for German machine is Rs. 150 and Isreal
machine is Rs. 200,

(d) The direct wages in all other shops last year amounted to Rs. 30,00,000
as against Rs. 6,00,000 factory overheads.

(e) Last year factory cost of all jobs amounted to Rs. 50,00,000 as against
Rs. 4,00,000 office expenses.

Make out quotation for job No. - 106 with 331% on cost price.

S IUNT IP&INIRY, 3ol Fodes® Horle 0.003T H3ehon SHabLRNT.
(a) wew* Bowo® 1060 Moz 3T 23 dwe. 1,00,000 serie ded 809 k. 20,000.

(b) abo3Mund wX0retd abodned 10 roddrieh sarie ek oo 6 riokdrie
T R Snrcsrnda.

(c) obo3nd @0 F3 rlotdrt wDrn® aboIrid BU de. 150, wheer abo3ny ©o
o, 200.

(d) %obs IR 2R, To0IRFMOHYIR wid) FZF 309 de. 30,00,000 Barie seawes
23 dw. 6,00,000.

(€) oy wewng &b ISFT Fowerd 36, de. 50,00,000 e sefed e
ds. 4,00,000.

Wiy SuE Wesad Soees 33%% Ry wdSod 2502r so. 1060 vomezsd Bed BeIobay,
3030020,
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4.

From the following information calculate the amount of profit to be
transferred to profit and loss account in case of contract costing.

Notional profit — Rs. 1,00,000

Contract price - Rs. 10,00,000

Cash received — Rs. 5,00,000

(90% of work certified} :

g BUnS Snkd wpeudorn  adeerk IRnwd R, 3SR, oy BF, w3
SrRFoLRWEIOR) 87, Hod.

Fw&aﬁ ey — Ok. 1,00,000

r3rtod 238 - gw. 10,00,000

SO BEST), z.aesamo- gw. 5,00,000

IndEs) 3e8a 90 TR, 3R3, B5a0RO, domd B o33 SRR

X Transport company runs a bus of 60 seats capacity between four cities
covering a distance from :

Hubli to Haveri — 90 kilometers
Hubli to Gadag - 80 kilometers
Hubli to Sirsi — 100 kilometers
Hubli to Belagavi — 100 kilometers

It makes 2 round trips between Hubli and Haveri, 6 round trips between
Hubli and Gadag, 3 round trips between Hubli and Sirsi and 8 round trips
between Hubli and Belagavi.

It runs 4 days between Hubli and Haveri, 6 days between Hubli and Gadag,
10 days between Hubli and Sirsi and 10 days between Hubli and Belagavi.

Generally 75% seats arc occupied in all the above trips, calculate total
passenger kilometers.

K’ 7501 :-303@60 esnned mmécadoﬁ WRF), WO, Jeagene S5 1.B30390.

B0, - Fo3ed — 90 SeSne etk

Boug, - REn — 80 3t e’

BOUY, = AAE -~ 100 $eSoe Doeedo’

m& - Bdmed — 100 80 oek3ot

3308 TR Toomd> DX Boyg, FrH FeeSed VA, 6 Boody BRNYR), B,
Agn 86k, 3 Boodd BBrida), BoyY, W B3 o 8 Bood Rodonedy, BuT,
$ered SRS IPRIT.

o, Sorive), Taen, B Bony, TS0 VA, 6 B By, i8n BB, 10 B o, 2AF
SRS 3 10 B3 Boryy, LR SRS WEBIET.

mRPYN 0T S0, Rive, 75% B3IV GRIAD 00008, W), BR
363 0eR0etIT YR, Bomd HBaD.

3 P.T.O.




23623/F 230 | LT

6.

From the following information calculate :

(a} Break even point in sales '

(b)  No. of units to be sold to earn a profit of Rs. 1,00,000
Selling price per unit Rs. 30 '

Variable cost per unit Rs. 10

(Manufacturing)

Variable cost per unit Rs. 5

{Selling)

Fixed cost Rs. 2,50,000 per year.

B 3¢NE Sndb3oor : _

(a) 3Ie3¢ Bord dﬁ%ﬂ@q‘ dsé Had - ,

(b} ©w. 1,00,000 ey ndzRen eS0T doaoaw :iiac% o) HB0D.
S»UetB B0 de. 30 33 adreden

WBSHIHI B0 2 9e. 10 I3 abedesrt

(ovmpd) .
WERSE BeotdS 31 o, 5 I3 adwedest
(Snvats)

3T Su¥ned de. 2,50,000 <3 JReY,

SECTION - C/ e - 3
Answer any two of the following : (2 x 15 = 30)
YRRV Wewars 0B, ou3D20 :

A company undertook a contract for construction of a large building complex.
The construction work commenced on 1.4.2014 and the following data are
available for the year ended 31.3.2015 - o

Particulars Rs.
(a) Contract price 70,00,000
{(b) Work certified 40,00,000
{c) Cash received 35,00,000
Materials issued to site 10,00,000
Estimating cost 2,00,000
Direct wages paid 6,00,000
Materials returned from site 4,00,000
Plant hire charges 2,00,000
Wages relat‘e’d'c‘dsts 80,000
Site office cost’. : o 68,000
Direct expenses incurred 1,28,000
Work not certified 15,000
4
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The contractors own a plant which original cost Rs. 40,00,000 have been
continuously in use in this contract throughout the year. The residual value
of the plant after 5 years of life is expected to be Rs.. 10,00,000. Straight line
method of depreciation is in use. As on 31.3.2015 the direct wages
outstanding and payable amounted to Rs. 30,000 and materials at site were
estimated at Rs. 30,000. '

From the above information calculate :

{a) Contract a/c for the year ended 31.3.2015

(b) Show the calculation of profit to be taken to profit and loss a/c.

(¢) Show the relevant balance sheet entries.

rom> Gostoin ded, Sip ARPFBE HINADR, SEER0RM. Tt ARRFE TODFD
Bsos 1.4.2014 dodo mdopmid 33 8 NS 00 wosneb> 31.3.2015 JaF

2 oS8R P0E03 BABITHIT :
asg | 3.
(a) rodn W | 70,00,000
(b) TR o8 40,00,000
() Srich B B0 35,00,000
IS eBHE, Bk VLN 10,00,000
odecmd 803 WOTRTOBTENS Fe, 2,00,000
$¢0 309 6,00,000
DSedRDOn L3NS ZoBTIEL 4,00,000
= Wl | 2,00,000
3.0 BowoRE SR - 80,000
A3eBSG Fe3eDd [, 68,000
Sea doFTiLd - 1,28,000
G peIvReRs son 15,000

rb3fmeod> B, 40,00,000 SR BSad FRBTIIY, B0l TRy BB S
euvsodnenamag. 5 SarnY 030 RF0T Mo Sodo Be. 10,00,000 eI, JeT
S 7389 10obATZE. 31.3.2015 Gowd Spmded Sed dedaid 30,000 303
Bs. 30,0000, 3680R IR :

o 25088 SPb30IR, WIRRR0B)

@ SmF 31.3.2015 dom daddrieodod o3t aRdabsy 303D,
(b)  enu-med ad 3NToRRS CRRG JomobRRTE, 306020,
0  oms S3gab 36g eodrivsy 3eeor0. s

5 P.T.O.
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8.

the local city covering a distance of 40 kilometers per day.
Normal capacity of the busg — 50 passengers

The bus carries 90% of its capacity towards Mandya and 20% eémpty capacity
towards Mysore and full capacity in the local city.

Calculate the rate to be charged to passenger Kkilometers yielding a profit of
25% on takings.

The information are given below :

Salary of 3 drivers at rate of Rs. 4,000 each per month

Salary of 3 conductors at the rate of Rs. 2,500 each per month
Diesel cost Rs. 8 per kilometre.

Cost of bus Rs. 15,00,000

Scrap value Rs. 3,00,000

Life of bus 5 years

Repairs and maintenance Rs. 20 per 100 kilometre

Road tax Rs. 18,000 per month

Office expenses Rs. 50,000 per month

Sundry charges Rs. 35,000 per month

XYZ 5301t 0800 1orieadROn 2001 08 woricodrt 307199, 15 B33 .00 IRy,
LBRRY. IS wodd> Bo Beeh wALIW. oo ) D)3008 FBOT 8o3T

250 d.2ve. QW0OIT. W), 303 10 BINY 30 World wdJoE oo E L) I0¢ orieldn

F308 Boeh AIY. ANV BB WS 8036 200 8,906, 203, K00dI'S BIrY so0
BoridedTY F3B 40 8.20¢. Bod bumatdrsd. |

Holneidd B9 33 .20c. SO 3383 25% eagROBrYRLYRL0E0S Hods BALD -
3 TEY w0d0 Seast 33 3orort B3aterydrt ce. 4,000 rivod

3 BT AEBI0 63 33 orirt 2330%6nydH Qo. 2,500 ridd

2058 33 33 8.200.4 6o 8 Tod o

wis Saee 136 B, 15,00,000

S roEd 16 te. 3,00,000
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AR 2e03RY 5 SAFND

Rovy Hene ISFBe 34 ce. 20 33 100 3.20ce30°

g3 301 dw. 18,000 33 Soniert

Be3ed Stiried dw. 50 000 3,3 3onnt

433 DROFTTo B, 35,000 B3 Jorivn

2 BB — 50 J,0i»eIFd

WAN wigod BHIGLE Borideddot abd:i.rad) 3gme 20 and, Bongpdsd Tper
m;ﬁoa{sr Y 23ondodRos abot% Begme 90 OR), P3¢,

:gi,oincﬁd oo Soee 3,383 25 god 3,0d0e980 TSI, &30

9. From the following information prepare reconciliation statement :

Rs.
Net loss as per cost accounts 86,200
Net loss as per financial accounts 1,04,023
Works overhead under charged in cost accounts 1,560
Administrative overhead over recovered in cost accounts 850
Depreciation charged in financial accounts 5,600
Depreciation charged in cost accounts 6,250
Obsolescence loss charged in financial accounts 2,850
Income tax pfovided in .ﬁnancial accounts 20,150
Bank interest credited in .ﬁnancial accounts 375
Stores adjustment credited in financial accounts only A 237
Value of opening stock in cost accounts : 26,300
Value of opéning stock in financial account 27,000
Value of closing stock in financial account . 26,000
Value of closing stock in financial account D 24,800 .
Interest charged in cost account but not in financial accounts 3,000
Preliminary expenses written off | ‘_ 400

Provision for doubtful debts o 75

7 P.T.0.
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10.

8 3JNT Sodbdoor 35)65101) ;5560.1)6% 300»020 :

on.
msu 30 J5ev aaoy TR 86,200
BT IS B50 VY Had ’ 1,04,023
3% H3end BUt w803 uEYss Soedz3rish 850
BOTAE HFBBD Bvend 3330 5,600
.:.Sz:gd ITRS Boveny 333¢ 6,250
BOTRN ITTE) FverR VBT 00T SRNYoB Z 2850
BTN HITBA LINRERT esrab 50 , 20,150
23R T Wi - | 375
AEET N SQomeﬁso.ba& BRERE ZTOA Ind, 13 SRRy 237
3% 350 ubofds 898 3e, 26,300
BTN JHFVTA eCoPs 808 IPe) 27,000
dz&u Q’,gﬁdc‘ggb Zasod ée%r\i :b"aegs 26,000
B0TE HITBADH desab 3du SR 24,800
&i ITOY 830, 4TT Beysod D3TBY), BeveRnE wB 3,000
BB N F23B B2 DLFTIL: 400
R0BOIRET PO uP 75

A product passes through three processes. The following information relates
to January 2016 :

Expenses  Process-I Process-1I Process-III
Materials 2,600 2,000 1,025
Direct wages 2,250 3,680 1,400

The production overhead are recovered at 50% of direct wages. 500 unit at the
rate of Rs. 4 per unit were introduced in process-I

The following additional data are obtained 2

Process Output Normal loss Scrap value

{in units) {per unit)
I 450 0% = 9
I 340 20% 4
i 270 25% 5

Prepare process accounts, abnormal gain and abnormal loss accounts.

8
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11.

2060 3G SR Sty BORTN 3,0dnvon 3oindseRniey. IS0 2016 owoRRT
S0%d Cr FYNT03T

ENTAA ﬁos‘p &1 ﬁoﬁédea—ll rn’oﬁéd go-111
o2, 914120) 2,600 2,000 1,025
Sed 3R® 2,250 3,680 1,400

au:-madm abcesazswﬂdo sed sedob Besd SO c:s%w. z’»on;dso—IdQ 500 03RIETIYR),
3,303p000 aREF BN, 4 Jod AeDnenRoDI !
ﬁo,-:‘;dea 03530 emmddd m&aa& BV xd WS

(03RQEFridd) (33 obedesr)
I 450 10% 2
I 340 20% 4
il 270 25% 5

JogCn B3ob a7adnidny, 3auRdD. eRBRYTN S8 vmIy, oy WedNYR)Y
30320020.

SECTION - D/yen - &

Case study (Compulsory) : (15)

I30e 8E,0LT (dmeod 38)

The following details relate to the manufacture of two products P and Q:
Particulars Product-P Product-Q

Direct materials (2 kgs) 12 —_—

Direct materials (3 kgs) — 18

Direct Wages per unit 4 4

Selling price per unit 30 40

Variable overheads 100% of direct wages.

Fixed cost Rs. 1,20,000.

(a) Calculate P/V ratio of each product.

(b) State which product is preferable if materials is in short supply.

(¢} State which of the following sales mix will you recommend and why?
Particulars P (Units) Q (Units)

Sales mix-I 14,000 6,000

Sales mix-1I 10,000 10,000

Sales mix-III 8,000 12,000

9 P.T.O.
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P 353 Q NFREHAN 20woRPAB S0 YA -

I3 P Q
et ZosoRed (2 3.190.) 12 —
Sev 30%oneb (3 8.m0.) — 18
SeC BRd (J3 cdredesn) 4 4

DAL ARALFER abedt*t) 30 40

WEHIFH esross ;mmm des sedob Bedms 100

48 Srieb de. 1,20,000.

(a)  B3odeomd AR eny Inosexs umsaQ o LB,

{b) Smu RSORNY FpdE sBaiRmen 0ins d@dzfﬁg‘ oum Brzdes) DRNTR), 3920,
(c) ©dYNT ol Ioeks DB, I, Aes) 859030 InE3ed Sy H¥9?

ST P( mawnve;) Q (Qh,e&és‘ﬁdc?‘)
So000e3 208, £-1 14,000 6,000
RIo0aks3 A08,85-11 10,000 10,000
IR0 208, ee- 11 8,000 12,000

10
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Reg. No.

VI Semester B.Com.2 Degree Examination, May 2016

(Regular)

Paper - V : COMPUTER APPLICATIONS IN BUSINESS

Time : 3 Hours]

[Max. Marks : 80

Instructions : 1) All Sections are compulsory subject to internal choice.

2) Section-D is compulsory.

SECTION - A

1. Answer any ten questions. Each question carries 2 marks :

(a) Define AIS.

(b) What is separate entity concept?

(c) Mention two accounting conventions.

(d) What are Financial Statements?

(e) How do you delete a company in Tally?
(fi Name any two pre-defined vouchers of Tally.
{g} State the function of F2 key in Tally.

(h) What are godowns?

() Mention the units of measure.

() Define Animation.

(k) List any two sound files.

()  Specify any two softwares of multimedia.

SECTION -B

Answer any three questions. Each carries 5 marks :

2.  List the objectives of Accounting.
3.  Explain the features of Tally.
4.  State the procedure to create stock items in Tally.

1

(10 x 2 = 20)

(3 x5 =15)

P.T.O.
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5.

6.

10.

11.

What is Bank Reconciliation Statement? How do you generate it in Tally?

What do you mean by multimedia? Write the use of Projector and Soundcard
in multimedia.
SECTION - C

Answer any two questions. Each carries 15 marks : (2 x 15 = 30)
Compare Manual Accounting and Computerised Accounting Systems.

Describe in detail how do you generate Daybook, Balance Sheet and Profit
and Loss Account along with drawing their general formats in Tally.

Discuss the applications and multimedia it different fields.

Write short notes on :

(a) Accounts receivable system
(b) Budget in Tally

{c) Digital Camera

SECTION - D
Case Study (Compulsory) : (1 x 15 = 15)

Mr. Tanush commenced business on 1lst April 2013. Journalise the below
transactions in tabular form to identify groups, ledger and voucher.

1.4.2013 Mr. Tanush started business with depositing ¥ 15,00,000 in
ICICI Bank. -

2.4.2013 Mr. Tanush withdrew ¥ 50,000 for shop expenses by Cheque
No. 123451.

3.4.2013 Mr. Tanush withdrew ¥ 10,000 for personal expenses by Cheque
No. 123452

4.4.2013 Purchased Furniture and Fixtures for ¥ 1,50,000 by Cheque
No. 123453

5.4.2013 Purchased goods ¥ 1,00,000 from A2Z traders vat @ 10%

6.4.2013 Sold goods ¥ 60,000 to Tejas vat @ 10%.
7.4.2013 Paid vat < 1,000 by Cheque No. 123454
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Reg. No.

VI Semester B.Com.2 Degree Examination, May 2016
(Regular and Repeaters)
AUDITING
Time : 3 Hours] [Max. Marks : 80

Instruction/zee :

Answer all the sections according to intemal choices.
&0307 &Q)r1erf SONDETN SR, DNV oVF D30,

SECTION - A/ Jzen - @
1. Answer any ten of the following : » (10 x 2 = 20)
RTINS Wewed B3 IBndrt ou3dD

(@) What is audit programme?
¢S5, BOBRCFT2 FODLFER dowBeRo?

(b} Mention the types of audit based on time.
RSo0d 503 Iy, SoBRegBabY R, APRLLT?

(c) Mention the types of errors.
3Fridd o) HErieh sueleHID.

(d) What is sampling in audit?
&3, ITRs30d, BRAR LR, BBLRBRSTR Howdesy?

{e) What is statutory audit?
SaRRWE 8, S0BREN 200TeR?

(ff  Give the meaning of investigation in audit.
J3, S0dcgdod 3Daiad egr 3920

(g0 Define internal check.
230303 J3wog w3o :aada% 8D,

(h} What do you mean by audit marking?
3, I0BRcgsabd rHddRr IREIDE HowBeRD?

(i) Define vouching.
I3 Sedrd FDBcordod Iy 3000,

1 | P.T.O.
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() Give the meaning of audit report.
g7, SoBRcPNod SoRD egs Jedd.

(k) Define the term verification.
S08eod BBV Dy WA,T SARD.

{l What do you mean by tax audit?
301 &S5, FVBeeGS HoBTER?

SECTION - B/agen— »

Answer any three of the following : (3 x5 =15)
3INIZHndd, Wewen et JZridnt ev3d0

2. Explain the advantages of continuous audit.
A003T S8, FOBReFToD BROITAVINYRY, JSOXD.

3. What are the provisions regarding appointment of company auditors?
3030 I3, SVBLGTT BT Dodzonsh adHR)?

4. What are the general principles of verification and valuation of assets?
e3rid S08eod BB INOIRITE FIINF, IZredFH)?

5. As an auditor how do you verify liabilities?
W) &7, BOBRegzoN BRBMROTNIBY, aert 3033007

6. What are the characteristics of audit report?
5, BOBRcPTR F0Bob egnneFD)?

SECTION - C/ o%on - 8

Answer any two of the following : {2 x 15 = 30)
YATF)NGS adn)erioe H0B B evgdAd

7. Explain the objectives of auditing.
8, S0Becgdab vt eBnea) HIOR0.

8. What are the qualifications and qualities of company auditors? Explain.
F0ID I3, SOBREPTS wBFIrieh I3 O AdRPH)? D[VAB.

9. Explain the procedure for verification of the items of finance statements.
BegaR) 33N Wandnvs), B08cod IRET IIIB), JI02D.

2
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10. Explain how do you vouch the following :
(a) Wages
(b) Closing stock
(c) Cash sales
FINTIHVR), A Bert Fpees® InBoDTord S0 -
(a) BRI
(b) wememL xUBOMY Sey,
{c) IO INoss
SECTION - D/aypen - &

Case Study (Compulsory) : {1 x 15 = 15)
Zs0n 8y obs (YEealaRany) :
Case Study :
(i A transition of cash purchase of furniture has been taken as cash

purchase of goods.
(ii) Credit sale goods worth ¥ 5,000 was entered in the sales book as ¥ 500
(iii) An item of salary of T 5,000 was posted to general expenses A/c.

{iv)

)

Cash purchase of ¥ 10,000 has been not recorded in the cash book.
¥ 5,000 electricity bill paid is recorded in salary register.

As you are an auditor, identify the types of errors and what action you will
take to rectify such errors?

(@)

(ii)
(i)
(iv)

v}

SeBLEIFCHNRY T 0D FTHTII), VNAWO A0BoONe DBER S0 W LSRN,

T 5,000 ssogw adoortd evdy :&ncama&gl S»oetd FRead I 500 2ot
PAlees MlarTatat '

T 5,000 Se3x msaamg m;:baqs DB W3t wobhend.
< 10,000 &3)3s srigd a)aeao.bdglamm T wdabeane,

¥ 5,000 a3y D T3 IPRTRY, SeI T3 SRPBA, wIcderst.

Dexy 2.2 U8, FORREGBTN e IFHIEL AR IFTE YKo TR I VY
Bert 3THO IPWDO?

D e g
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Reg. No. T

VI Semester B.Com.2 Degree Examination, May 2016
{(Regular and Repeaters)
DIRECT TAXES

Time : 3 Hours] [Max. Marks : 80

Instructions/3etsand :

1} Answer all the sections according to of intermal choices.
&0308 SOV GEBU DEB, DGIITYA) OVIOI0.

2} Use of simple calculator is allowed.
TR 53 L IeIO* WITED MROOITERND.

3) Section-D is compulsory.
Qa;arf—a’o’agaimﬁd

SECTION ~ A/2gen - &

1. Answer any ten of the following : (10 x 2 = 20)
3dNT et B3 I3t euzdad:

(a) What is direct tax?
Jdseg 301 dorTeRL?

(b} Who is senior citizen?

5003 Tendrvh aoBde?

(c) Expand (i) CBDT (ii) AMT.
9802 (i) CBDT (i) AMT.

(d) What is partial partition of HUF?
ot 8NIY Botvownd partial partition HoWBeRO?

(e} Who are coparceners of a family?
&0t ¥NYT FotoE FBTLTITT 20TT adRTO?

1 P.T.O.
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()

(g)

0)

(k)

)

What do you mean by LLP?
Lobhd wau%&) ToeNTRT 30'-% 20RTeRO?

Write any two conditions for assessing the firm as firm u/s 184,
TR0 503,,9”@-. Section 184 Fpdsen Wems o0& a?oad)rwn& 320,

What is a domestic company?
Bedeod FoBD dordeRH?

What is Book Profit?
Book Profit FITT eyl HoBBeRO?

What is Wealth Tax?
2032 301 DoWBerRL?

Who is an Assessee?
Assessee 20038 03n0)?

What is treatment of share of profit received by partner from firm?
ATIIVIAT o] ﬁoséobq TVTITT) ﬁo%omod wor RYIT), Sﬁmaraowdd& zen
JOriedzond?

SECTION - B/ a1 - w

Answer any three of the following : (3 x5 =15)
Seod dmo‘!{,‘ U300 :

2. Mr. Laxman of 58 years age has furnished the following particulars

(a)
(b)
(c)
(d)

Income from salary - Rs. 8,00,000
Income from business - Rs. 5,00,000
Income from interest — Rs. 50,000

Income from capital gain {(long term) Rs. 80,000

During the year he paid donation to National Defence Fund Rs. 1,00,000.

You are required to compute tax liability of Mr. Laxman for the Assessment
Year 2015-16.
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2. 0F 0 SabR) 58 B0 SUNT S0k FPRYATT :
-[a) FowYR emaod Be. 8,00,000
(b) ST w0l — . 5,00,000

(c) wBOMOE 20w s@D — B, 50,000
(d) DeFrId woBYE et (Long term capital gain) . 80,000

300 JFrnd AW mtsdmf &;SE‘N Fow® (National Defence Fund) ‘adi% ow. 1,00,000
desdnt K)e&mcp. Bt SNGS DL 250 eread 30K AY. 2015-16 Tod 5o LB0%00D.

3. Shankar and Khabir are the partners in a firm of which Shankar is working
partner. They share profit and loss in the ratio of 2 : 1. The net profit of the
firm for the year ending 31.3.2015 was Rs. 1,60,000 after charging the
following :

(a) Interest on Capital at 15% Shankar Rs. 20,000 and Khabir Rs. 30,000.
(b) Salary to Shankar Rs. 1,40,000 and Khabir Rs. 8,000.

{c) Bonus to Shankar Rs. 40,000.

({d) Commission to Khabir Rs. 12,000

Compute the Book Profit and partners remuneration under Section 40 (b).

8080 Hone VT JSTY TPLOWRT F0X 0D THEVWITTH ISVY, BoFT A0l FeewWeTBR)
Ry Fododbdy 2 @ 1 Tod BowRked)Too. AIY ey 31.3.2015@ INFBd
gn. 1,60,000. & epyind 39N wewdynda) Sediennd.

(a) woBYE wB deswe 15 god, 80308 wor=me® Tw. 20,000 3Re0s woBTY
gw. 30,000

(b) Bo8T Bowe Bw. 1,40,000, 3DETH 30w Ge. 8,000
(c) 38080 w30 s Be. 40,000
(d) ¥Ded u3BR 3e3w B, 12,000

878 S=Fs Book Profit Farin Tevmss 30igess 40 (b) 800 B5e0 BoE LBOAD.

3 P.T.O.
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4.

A domestic company provides the following information for the previous year
ending 31.3.2015 :

(a) Profit of business — Rs. 3,00,000

(b) Interest on Government Security — Rs. 30,000

(c) Dividend from Domestic company - Rs. 1,00,000
(d) Long-term capital gain - Rs. 3,00,000

(e) Short-term capital gain — Rs. 5,00,000

Compute the taxable income and tax liability of the company for the
Assessment Year 2015-16.

Wedead B0k FIAS I0&3 wBARE 31.3.2015 Cod -

(a) 90 Sesetitod el de. 3,00,000

(b) =oeed (BodF)ob wB (mod 33 i¢d) . 30,000

{c) weBead Fom Bedons eoyeos B, 1,00,000

(d) BeFar3p wordmee eoyd (Long term capital gain) dw. 3,00,000
(€} ©UIH woBTY eyl (Short term capital gain) 8. 5,00,000

S S00d3 402 FoINOD BTk Bere estIealdd sbﬁo:iodiA.Y. 2015-160 =30 sorw>
SHBoDD.

Avinash is the Karta of an HUF and also he looks after the firmly business.
The profit from business for the previous year 2014-15 amounted to
Rs. 10,00,000. The above profit is earned after debiting the following :

(@) Salary to Karta — Rs. 1,20,000
(b) Payment to the wife of Karta — Rs. 40,000
{(¢) Municipal taxes on the residence — Rs. 2,000

The Karta received Rs. 38,000 as director’s fees and a dividend of Rs. 24,000
from Indian Company in which family funds are invested.

Compute the total income and tax Liability of HUF for the Assessment Year
2015-16.
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VW3  B/STD  HOBR  BIYPT  oELOWT m.)a)éﬁw&c&% belate] aazsmd ;S&;aauﬁc_gl
Mea&m%sgd. 300 oELOWT zﬁdmdd e PY. 2014-15 god drn. 10,00,000. 3630
RPII), TYNT .9)2&)971‘:}&\3“l 302 30t LBOLRAT.

()  Sorvows IVYRS Bowd B, 12,000

(b)  Sotwows SoNES Sordod Fowd Se. 40,000

() BwdzBe 301t 303 AT SoSabay de. 2,000

Botowd BRI . 38,000 eeeds de Hord Fore g8 H0w B, 24,000 nvs)
3pe8 F05J0W0T FBVTT. 8 FoTADY, DT BotoWE BESR), IPBNSSNT.

BAYPZ BOLDOWE wid), BT Foane I07i0dR), Ford &RWD.

6. Explain the assets liable for wealth tax.
303338 30rtad FFeT ol erid Soed 0N WITE INBWBOTO?

SECTION - C/%mR - 8

Answer any two of the following : (2 x 15 = 30)
Yoo HOB SIZridn eu3di

7. Shri. Kumar is the Karta of a Hindu undivided family which is carrying on
cloth business along with speculation aiso. The following are the particulars of
income of the family and its members for the year ending 31.3.2015.

{a) Salary received by Sakshi, a coparcener Rs. 20,000 per month from
Danalaxmi Co. Ltd.

{(b) Salary received by the family by Rashmi and Ashu who are other
members of the family Rs. 15,200 per month and Rs. 19,200 per month
respectively. The assessing officer considers that Ashu salary is
excessive and the justified amount is Rs. 16,000 per month.

{c) Interest and other income :

(i) On Government Securities held in the name of Karta purchased
from the family fund Rs. 20,000.

(i) On units of UTI inherited by the family Rs. 14,000.

S P.T.O.
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(d}

Family Business income :

Net profit Rs. 1,80,000 after charging salary to Rashmi and Ashu. The
debits and credits as the case may be in the profit and loss account
included the following :

(i) Taxable Income from House Property Rs. 64,000.
(i) Loss from Speculation Business Rs. 40,000.
(i) Winning from crossword puzzles Rs. 32,000.

(iv) Life Insurance premium paid on the lives of the members of the
family Rs. 40,000,

(v) Contribution to Public Provident Fund in the name of Rashmi
Rs. 40,000.

Compute the total income of family for the Assessment Year 2015-16.

8¢ DINT A3 Lore BOPT BoELOVT Fooa) .oacb otowsy @dlad mdﬁﬁo
SRBEXIT. Fokdow BN LW T Sﬁ .oo'aoa»dos 31.3.2015 dod 3N x)ddrwm
e ennd.

(a)

(b)

(c)

(d)

WG AB BOLDOWR 3TZ0 Puod Foxdood I3 Soritd T, 20,000 Tod Bowe
SBRT.

BFY FotbowT T 0T BB Bone ¢ I[N 8APE Fotwowdos T3 3oried
g de. 15,200 &ne de. 19,200 dod Zows SBDMY. emeod 301
QODBR[Y ZFoC 8B 93V oridrt de. 16,000 Boyemss 2060 AP OZRAT.

wB ®orin QIC B0k :

(ij =<oerd AByd8abg,  Botdowd SDIT B0V, Bedd IRET wa
Bs. 20,000. 8 B2RF0D B B0t00WT B HTN.

(i UTIBE 30 3008 S0Br) de. 14,000 96 ssbS08s BedTainnd.

Botoww mesarad Nt el ;

&quo ey Tn. 1,80,000 (@820 mone ¢8> 9381 QedB Zonds ®o30). YN
DWOF danw esmoi)rww% wentpold.

(i) o8 &3 emeod (House Property Income) tw. 64,000.

(i) Speculation Sketds 8, 85%. 40,000.

(i) Cross word puzzles Qo& id ey’ dwe. 32,000.

(iv) 2ex IZRT ITRT 2630 Soees %083, 5030 Be. 40,000.

(v) @8 980 3303¢ Public Provident Fund AW, Beo BN T, 40,000.

B8 k3 B0 8DPT soeowd AY. 2015-16 Tod smead) 3050 HBOLD,
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8. Following is the Profit and Loss account of Maheshwari and Co. for the year
ended 31.3.2015 :

Profit and Loss A/c¢
Rs. Rs.

To Direct Material 25,00,000 By Sales 394,00,000
To Salary 50,00,000 By Interest on Govt.

To Advertisement 28,000 Security 1,00,000
To Insurance 25,000

To Audit fees 65,000

To Depreciation 90,000

To Provision for Tax 40,000

To Provision for contingent liability  1,00,000

To Transfer to General Reserve 3,00,000

To Proposed Dividend 2,00,000

To Establishment Expenses 2,50,000

To Loss of Subsidiary company 1,50,000

To Legal Expenses 50,000

To Repairs to Machines 48,000

To Net Profit 6,54,000

95,00,000 95,00,000

Other information :

(a)
(b)

(c)

The profit and loss account is prepared as per Companies Act 2013.
Depreciation as per IT Rules Rs. 68,000.

Bought forward losses and unabsorbed depreciation are as follows :

As per IT Act As per Books
of Account
Bought forward losses 2,80,000 3,00,000
Unabsorbed depreciation 1,80,000 1,50,000

You are required to compute :

i)
(i)

{iii)

Income Tax liability as per MAT u/s 115B
Income Tax liability as per normal provisions of IT Act.

Final Tax Liability of the company.

7 P.T.O.
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:bée%b FOSANT ZowoRIW €Y Fod 3o, 31.3.2015 Jod seNgod uws

oaz,i—da&a)az
ow. gdn.
it - ded o)) FWegE 25,00,000 Bow - &S0vss 94,00,000
- F00Y 50,00,000 - 35D PT:
— wdevadOreh 28,000 SIN wd 1,00,000
- ;D 25,000
- Iz S0Beegme B0, 65,000
- 3J8¢ 90,000
- 3018 Qoezen 40,000
- 3033decdy oezen 1,00,000
- mdm% 0 SerIe 3,00,000
- doleessd ayreos 2,00,000
- T I 2,50,000
- OReE FOIV BF, 1,50,000
~ TRATO 3, 50,000
- 0b03B BT i3, 48,000
- IS¢ eyl 6,54,000
95,00,000 95,00,000

230 I0&8 :
(a) oy I FD aR3adb) Fo3R Fd0k) 2013 Bod Iodndieni.
(b) ewaad 301 Feodod dobIored 3FFY de. 68,000.
(€) %oBT IZFT T HoNH B00VBHY T I8 Br FYNT0IS :
ool 30 BT  wed FHyeny Ived

008 IRrw B ow. 2,80,000 gdw. 3,00,000
30DB0Y B 3389 G». 1,80,000 gw. 1,50,000
& SoedTHridmpdl Be) :

(i} ewecd ortab BesMdToLRY MAT 3. 1150 350
{fi} &b 3oriod Berredolba) vweod 381t seabob B5es
(ili) 033 soeob 301t BeBmbTob), S320.
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9. Sundar, Chandar and Mandar are equal partners in a firm of which Mandar is
not working partner. The profit and loss account of the firm for the year

31.3.2015 is given below :

To Salary

To Rent

To Travelling expenses

To Advertisement

To Bad Debts Reserve

To Depreciation

To Fire Insurance

To Partners Salary
Sundar 16,000
Chandar 12,000

To Commission :

Sundar 8,000
Chandar 4,000

To Interest on Capital at 16% p.a. :

Sundar 2,000
Chandar 4,000
Mandar 6,000

To Loss of stock by theft
To Payment to retired partner

To Net Profit :

Sundar 6,667
Chandar 6,667
Mandar 6,667

Rs. Rs.
82,000 By Gross Profit 2,32,000
40,000 By Discount» 8,000

8,000 By Bad debts recovered
24,000 (previously allowed) 1,000
3,000
8,000
1,000

28,000

12,000

12,000
1,000
2,000

20,000

2,41,000 2,41,000

9 P.T.O.
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Adjustrﬁents :
(a)  Depreciation allowable as per rules is Rs. 6,000.

{b) Rent includes Rs. 2,000 being rent of the godown owned by Mandar. The
fair rental value of the building is Rs. 1,800.

{c) Salary include Rs. 6,000 being salary paid to the daughter of Mandar.
She is B.Com. graduate.

(d) Travelling expenses are paid to Chandar for his foreign tour for securing

order of firm.
Compute the total income and tax liability of the firm for the Assessment Year
2015-16.
A0T0, Bowd Ay owes I Foenredd so.-'ioi) AT TLWTTNR), 00weT

RS0 7§ e0d FweLTTTNG,. Fo30b 31.3.20158 eayi-5od wed B YN0 :

g, o
i - owe 82,000 0B - i) ooyl 2,32,000

- Wbt 40,000 - Reel 8,000
- Bodwe Be, 8,000 - 33 W0 I3
- mgm& : 24,000 (&0%8 ﬂ&i&poa) 1,000
- se.;j DO DIEIED 3,000
- 3389 | 8,000
- oh a0 1,000
- JVWIVT Z0WY .

:bocsd 16,000

23053 - 12,000 28,000

10
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da. gA.

- BCRT®

z00wT 8,000

% {vinle} 4.000 12,000
- 3¢ 16 dod wore et wh :

ptldale 2,000

WBoWo 4,000

R00BTV 6,000 12,000
- 30AV0TE mSoN JF, 1,000
- AFZ TN HTIATY, 2,000
- &d‘;..* eyl :

ouT 6,667

Bowo 6,667

=oows 6,667 20,000

2,41,000 2,41,000

BROTREIFNA :

fa) QobSond 350 VPR3 FTFY Cwe. 6,000.

(b) weBitobd de. 2,000 Sooweds swm N wWadnt 3edW. TWRET 200 Wkt 37
Gwe. 1,800 eNoL3d.

() Rowddd dn. 6,000 MER),SoowadE Fondn QAT FowdIRY, wIrtroB.

(d) wordar Qedd Joine SWEY, ﬁo‘%ﬂ %0 30w BT 03w ;52.{’ 2edB.

2015-160 u.s.zd a0l Jone 301 mamasomgda;qa.

11 P.T.O.
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10. Mr. Nagendra is doing a business of construction. You are required to
compute the net worth and wealth tax from the following information as on

31.3.2015:
Rs.

(@ Land in rural area 50,00,000
(b) Land in urban area on which construction is not

permitted by the authority - 15,00,000
(¢} Land in urban area held as stock since 2001 45,00,000
(d) Residential house allotted to 3 employees. One employee

is having an annual salary of more than Rs. 10,00,000 60,00,000
(¢) Residential flat held as stock in trade - 2,75,00,000
(fi  Motor car used for business purpose 10,060,000
{g} Jewellery 25,00,000
(h) Cash in hand 1,206,000
(i)  Cash at Bank 38,00,000
)  Loan taken to purchase Jewellery : 15,00,000
(k) Loan taken to purchase land in rural area 25,00,000

33 Parteon Ty ARsern LGSR IC3TeNSHTY. 31.3.2015 Cord wouSod o
BINS IdbIowod Jecyy 833 NSE B0, Hane zosis® Soradosy 3, SRBe TN :

() mMmden IBeBBHob ¥ - 8. 50,00,000.

(b) I3 IVBBIAD PR - ¥Ed v Doees FUE SR 0T 333 Rowogss,
EipRALElelATV A &cd%&i@n dw. 15,00,000.

(c} S SWe3ndody e 2001 dod TYTOT FOFN AwB)y - va. 45,00,000.

() =38 D8 3 = P00 Boueuy - wy PIOS mars 3638 te. 10,00,000
§08 B2t = - . 60,00,000.

(e} =030 =2 3,583 a%mdd 20N 'adoz&;z - 8w. 2,75,00,000.

() SIwevd eusedd eusolneNses Sactnd 59 - Be. 10,00,000.
(g} eBeried - S, 25,00,000.

(h)  Zodbdod Sriwy - dwe. 1,20,000.

() w0380l Brichy - dwe. 38,00,000.

(3) 630 0nd DO oo sodc:‘% - gdn. 15,00,000.

(k) mydoen B8 6B DBeBN oo 3083 - da. 25,00,000.

12
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11.

SECTION - D/&wperi— @
Case Study (Compulsory question) : (1 x 15 =15)
%300 ¥gobs - greod 3P :
Mr. Uma Shankar provides you the following information :
{a} Salary per month Rs. 25,000,

(b) Rent from house property Rs. 9,000 per month. Municipal tax paid
Rs. 15,000.

{c) Income from business Rs. 3,55,000.

(d) Share received from partnership firm Rs. 1,00,000.
(e) Life Insurance premium paid Rs. 75,000.

(ff Interest on tax free debentures Rs. 27,000.

(g) Winning from horse race (net) Rs. 70,000.

(h) Long-term capital gain Rs. 1,75,000.

(i) Dividend from Indian company Rs. 20,000.

Compute the taxable income and tax liability for the Assessment Year
2015-16 if .

{ij He is aged 59 years.

(ii) He is aged 65 years.

(iii) He is aged 81 years.

3R’ suIe 3080 BS Ao Bk YN Béd0ddr), wBNRT]YT :
(a) <Se3® I3 3ondrt de. 25,000.

(b) Sos8 eyowod WM woRW) Be. 9,000 F3 3oridrt, I xy¥ 301t EERC AN
dw. 15,000.

(c} S Sw0hod wod uwead dw. 3,55,000.
(d) =Pe0EedT 030008 20T Teew 8. 1,00,000.

(€) e ISR F0> HIIWW), Te. 75,000.

13 P.T.O.
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) 388 3003 eSINY0R 1808 WA B, 27,000.
(@)  Bomd wess fends Je3ried (W) dk. 70,000.
(h) Deorsd woEwe wegined dw. 1,75,000.
(i) eCddcod FoIVOWOW A aeﬁﬁzyd eezTeosned e, 20,000.
300808 SRF 2015-168, Bowodagod Bedna® ovn B30T 30NN wISHI ewead
oy 53y 207 BABMEOY B> HoLVBRY, B SUAT FosPerivr I8 IRR0 -
@) v Bosd 59 SRFBSweNmert
(i) VSR Bo3G 65 IVFBSTNWIN

(i) evI® B030 81 IdrpSmeNTN

14
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Reg. No. r " o

VI Semester B.Com.2 Degree Examination, May 2016

(Regular and Repeaters)

Paper — II : INCOME TAX
Time : 3 Hours] [Max. Marks : 80
Instructions/Zetsalried :

1) Answer all the sections according to internal choices.
&0305 eayndrt edOrOaal HeR DgRnndrf evzdso,

2) Provide working notes wherever necessary.
&IZ D) EXTEITIR) WO

3) Simple calculator is allowed.
blar) &gcgdc’bo‘ MDOSOIT RN,

SECTION - A/ 9%t — &

1. Answer any ten of the following : (10 x 2 = 20)
Yezed B3¢, su3020

(a) What is long term capital gain? How is it calculated?
DeForID woBTY ePFIonTero? awdgl et 50RO SRB0I0YeD?

(b} What is the base year of cost inflation index? And give a formula for
calculation of indexed cost of acquisition.

0% A0RY0T IUH Fne0 IRF ARIHE? VOB IR 20wW08 $03 I8, FHUI
R03, Qe

(c) What is ‘self assessment™
'A-TOE0L DHOBWTER?

(d) What are the rates of income tax applicable to an individual who is the
age of 62 years?

62 SodbrRy, BeoRCS 3818 BT oS 301 WOnes), whdod.

() What is business?
FSwovSonTeR ?

1 P.T.O.
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()

(g)

(h)

i)

(k)

M

How do you treat the share of income received by an individual as a
member of HUF?

83T oDV ﬁdz:;smh IBodos aa‘aoi)dabd et IOnSSRHH7?

What is book profit of a firm? How is the book profit of a firm is
calculated? '

:‘%ssmd ey 3% RPIondesd? vad) sert &Y, SRBOJ0?

What do you mean by clubbing of income?
BTN 2t3), RABOIIT HoBT?

What is inter-head set-off?
©0308 J5es BRI OTBeRO?

State the rules for set-off of short term capital losses.
¥eRJIY WOBTVE BANYBY, BRI JoDIonds), 0.

What are rules for grossing up of winnings from lotteries?
en3d ends ISY SeZIRY, wert 200eg0R03¢07

Who is an individual?
0dRTRY, & DT> 3 00S[TOT?

SECTION - B/ 9o — w

Answer any three of the following : (3 x5 =15)
wezadd Saecth SBrert eugdRD o

2.  Explain the capital gains which are exempt from tax.
301} P08 BLODT WOBTY mz;iﬁe}ag 3020,

3. From the following particulars of income of Mr. Basavaraj, compute his gross
total income for the Assessment Year 2015-2016 :

4

Income from house property-I 22,000

Loss from house property-il 8,000

Loss in cloth business 4,000

Profit from speculation business 80,000

Long term capital gain 18,000 .
- Log term capital loss 42,000

Short term capital loss 10,000
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je wINTIHR> B sy BE cmeobnd IRTHALTY ©PR0, TUesOE SAE
2015-20163, 138 2:4d), BTRODTIY For) B :

4
Lgesod S 6} oy 22,000
SoRBOD 0T B} Fad 8,000
msﬁaaémdd B 4,000
33 &mémdd 30 80,000
DegFerRB 2B ey’ 18,000
D3R WOBTIE Ho® 42,000
emdsb ORI T 10,000

4. How do you treat the following incomes while computing the total income of
an individual :
(a) Share of profit from firm.
{b) Income received as member of HUF.
(c) Share of profit from AOPs.
(d) Dividend froma domestic company.
{e) Interest from a firm of which the assessee is a partner.
i Salary from a firm of which the assessee is a partner.
(g) Dividends from a co-operative society.
22) HB0D uwﬁumobdﬁgl F0@) WBodvmern, et $YNT eseonvR), Bert 30riedoN
(a) SO0 ﬁo;‘oooa)od NI ROCIAR
(b) 2T Bobkdrown 3BFTN IAG Y.
(c) sé_ﬁnrie} RosDos (AOPs) ST Y.
(d) dedeod BoSN0W0T 2000 ©eYIe03.
() oeondd ﬁoﬁeo.b TeenmoTen 336 WA,
() ormedsd ZoewmdE 'soﬁﬁab 3@6.%% AR $¢3T.
(g RBH0 BoA0008 208 LRYR08.

3 P.T.O.
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S. ABC are the partners in a firm sharing profits and losses in the ratio of
2 :2: 1. The profit and loss account of the firm for the year ending 31.3.2015
is as follows :

Rs. Rs.

To General Expenses 76,000 By Gross profit 2,00,000
To Interest on capital at 14% :

A-7,000

B - 4,200

C - 2,800 14,000
To Salary to B 60,000
To Commission to C 30,000
To Rent to C 12,000
To Net profit 8,000

2,00,000 2,00,000

B and C are the working partners. Compute the total income of the firm for
the assessment year 2015-2016.

.02 FBD HEVMWT $050HA Teenredd), Fo3odb JFIF0EI 2 : 2 1 1 IIR6RE,
ey S0 Ea&oi)dgt SOﬁaml%gm%d. 31 SIws 20158¢ 33&'6& TeeMedF zoﬁem SrTA

S03) FA 303 & FNTos : _
dn. gdw.

TS, B 76,000 i), ey 2,00,000
worDY IR WA (Be. 14%)

- 7,000

- 4,200

- 2,800 14,000
‘Dob SIS 60,000
‘% ad FIEBR® 30,000 _
‘R weldrt 12,000
ARY g 8,000
B DI 2 PR 520 VT TeOMPUTINTRY. FTT0H J3 2015-2016% RoZ00> wid),
ST, JF, F93D.
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6.

Smt. Roopa furnishes the following details for the previous year ending
31.3.2015: -

{a) Intereston Central Govt. Securities Rs. 20,000

(b) Winning from lotteries (Net) Rs. 14,000

() Intereston debentures of ABC Ltd. Rs. 3,600

(d) Dividends from Indian Company Rs. 5,000

(¢) Income from non-agricultural land Rs. 6,000

Compute her income from other sources for the assessment year 2015-20 16.
31 Zoeese, 2015 eweod IR mdm&%@dﬁ& 8303 Cwomd oS00 S EUNT Sk
ReRTT

{a) BeoG, 30500 PB I 33 Soedd u&a cw. 20,000
(b} at0000% IBT BH0d (R ée}) g»n. 14,000
(€ DA o303 B30 WB, gx. 3,600

(d) epevdead oddoow IEB eaeos dw. 5,000
{e) ﬁ,&we’a’d 2300000 200 w0l dw. 6,000
200308 3¢ 2015-20 160 AT 280 Reondor wor ATevinT VY 8, S080.

SECTION - C/ozon — 8

Answer any two of the following : {2 x 15 = 30)
Wetord SORBO SBRYT g3 0k

Girish and Darshan are the working partners in a firm sharing profits and
losses in the ratio of 3 : 2. The profit and loss account of the firm for the year
ending 31.3.2015 shows a net loss of Rs. 1,00,000 after debiting the following
items .

(a) Salaryto partners :
Girish Rs. 50,000 and
Darshan Rs. 36,000

(b) Commission paid to Girish : Rs. 10,000 and bonus paid to Darshan
Rs. 24,000

{c) Interest on capitals at 9% :
Girish Rs. 12,000 and
Darshan Rs. 24,000

(d) Intereston loan from partner (at 9%) : Grish Rs. 8000
ey Rent of shop building paid to Darshan Rs. 24,000
() Payment to retired partner who retired on 31.3.2014 Rs. 10,000

&

Loss of stock in trade by theft Rs. 4,000

g P.T.O.
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The following incomes were creditedto P& L A/c:
(i}  Interest on debentures {Gross) from companies Rs. 1,16,000
(i) Interest on fixed deposit with a bank Rs. 4,000 (Gross)

The depreciation already debited to P & L account was in excess of
Rs. 6,000 as per income tax rules.

Compute total income of the firr for the assessment year 2015-2016.

Noes D) FBFT 2,000 ToeLMOR %dsmd :u’o;'ioixg FODFATS mwmdt)d%, [OrTA
BINR as‘aarie)ai%l 3:2 qmmg aoaﬁmﬁ%gc%d. 31.3.20150 usoead IReg eI,

ﬁoa;oi) 3 03 HR MQDQ B ﬁdﬁw@ﬁvd& AW HAT FJo3g T 1,00,000
Eaﬁ)abag{ Meamgd:

(a)

(b)

(d)
e}

(g

TIMRTON Jead :

AdeB - dw. 50,000

BBe® - T, 36,000

NBe3AN 3Bt SRk de. 10,000 R BBFIIN 23ecnTE QeRD) B. 24,000
WOBTYT SoedT wa (3e. 9) :

hoe3 de. 12,000

B3r® CBw. 24,000

TSWMTIT BB oo eds wB : NOeB - de. 8000

vond L@ WRNODHR) BIrFAN ) de. 24,000

33 B00dE eI Le3w MQC&Q Bme0s 31.3.2014 Gomd si}a&d%
gwe. 10,000

a%mddqw 3om3 AV FLLTHA0T &G Hod Tue, 4,000

=2 wﬁwq)msag gl L) F2 33BN w3» Indend :

(1)  FoBAINPoB IAT BesoBNY Zreds 2B dw. 1,16,000

W) 23083083 63H Beds oeds wd de. 4,000 (wt))

Simenide usmaod 301 DOLITRY Ded ATIYODRBY ey I ®od IR Dedoe
B3) o, 6,000 w33,

$09808 J3r 2015-20 163, Soenmodd ;"40.'%01) w3, emoi)ddgl 5, S0kd.

6
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From the following Receipts and Payments. S
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lawyer, compute her total income for the assessment year 2015-2016:

tatement of Mrs. Padma a

Receipts < Payments T
Professional fees 17,500 Salary to staff 3,000
Arbitration fees 5,000 General expenses 2,500
Salary from a College 3,000 Office rent 2,400
Dividend from Co-operative Telephone charges 600

Society 500 Car expenses 2,250
Interest on tax free Furniture purchased 2,250
debentures {(Gross) 500 Municipal taxes 150

Profit on sale of securities 8,500 Income tax 1,200
Household expenses 6,000

LIC premium 1,500

Closing balance 13,150

35,000 35,000

She also furnished the following information .:
(a)
(b}
()

General expenses included ¥ 500 being donation paid to a political party.
1/3 of car expenses relate to her private purposes.

Municipal taxes paid were pertaining to her self occupied house of which
she is the owner. Its municipal value was T 1,500

(d
(e)

Depreciation allowable as per IT rules, ¥ 1,500.

The above securities which were purchases on 1.5.2013 for T 15,000,
have been sold for I 23,500 on 15.4.20 14.

%e;bé Sme’ =sedy, B 9t GJaé,{, ?oae%;é 03 w338 5&%01)&2‘ =0riedy, FooE0E SAF
2015-20160 2td) desmoi)asmddﬁé 3RO :

23 37ie . wRISATED 0.
J3ob ¢ 17,500 Az%}o&oi) He3d 3,000
D3 ED HE 5,000 NPT DWETL 2,500
Foe3eridon IBR SBI 3,000 @’ wodt 2,400
2550 0 DoR WOT eYe0s 500 Gwedseed NDWE 600

7 P.T.O.
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2e3,3rie gw. WEIIERY
3018 S8 BeSorsc S0¢:330 T8 DN
00T 28 (wid)) 500 $re30 DDA
P53 I3NY Inoetind ooy 8,500 Sodiseos 301
esweod 30t
rj,as’ J0W07 DWoFNLd
63 AT FoIN F03)
Swsz0bsE e,
~ 35,000

83 By, VIO B FYNT S%I0R), AE JeBWT :

(&) RBRT, DWOFNYS A, S00 vazsdead oge, eedrt JeBRY Reogodnnas.

(b) 1/3 Rectsos DdwoF Wezn v edmN ZowopucZ .

on.
2,250
2,250

150
1,200
6,000
1,500

13,150
35,000

() Swdizede3 3018 REAT 308 ot BOWORTING. BWT BT 359y

ge. 1,500 eshcusds.
(d)  eweod 381 DoDRB 3500 Bwe. 1,500 338¢ BRIBNSTRNTS.

(e} ©Boed Bedw P30 BZnYs) Dmeos 1.5.2013 Sond DOeRIUNS. To 15,0008,
S a@mm& B@20% 15.4.2014 5ory Bwe. 23,5001 IRnoks IRBeHAT.

9.  From the following particulars of income provided by Mr. Vijaya Kumar for the

three assessment years :

Particulars 2013-2014 2014-2015 2015-2016

Income from Salary 20,000 22,000 24,000
Loss from SOP 4,000 — —
" Income from LOP 16,000 4,000 12,000
Loss from business 16,000 — .
Income from business — 24,000 12,000
Loss from speculation business 12,000 — —
Profits from speculation business — 40,000 60,000
Dividend from Co-operative society 4,000 4,000 4,000
Short term capital loss 4,000 — 8,000
Long term capital loss 24,000 — L
Long term capital gain — 12,000 24,000

From the above information compute his gross total income
Assessment years.

8

for three




TR 0L

10.

23622/F 220
el BIRPOBS T YRS Redh T80 IRFNII Bowodrwod eTRonY Ib3adR),
QeBwT

238 n013-2014 2014-2015 2015-2016
Se333 eswpod 20,000 22,000 24,000
RTINAIT Sodod ZR 4,000 — —
Wit Sodfod ewRod 16,000 4.000 12,000
SSH0B T 16,000 —_ —
I F®00 oY —_ 24,000 12,000
b5, 3 BHI0E Fod 12,000 _ _
Rt FRBITT Y — 40,000 60,000
3BT J0PT Y08 4,000 4,000 4,000
Corhla WOBTY T 4,000 — 8,000
DegraESD WoEmeY TN 24,000 — —
BeFar Y WOBTY Y — 12,000 24,000

o Socdn m&sw@lmﬁm 00O BUBTH SRENY wed), B0, I, I0B0.

From the following information furnished by Mr. Raghuram, compute his

income from other sources for the assessment year 2015-2016 :

(a) Dividend on shares of Indian company ¥ 8,000.

(b} Income from writing articles in magazines ¥ 4,000.

(¢} Helivesina rented house paying rent of 3 6,000 per month. Since the

house is too big he has sublet 1 /3 portion of the house at a rent of

7 3,000 per month. He pays municipal taxes of ¥ 1,500 on the whole and

for repairs of the whole house ¥ 2,700.

(d) He received T 10,000 as interest on the term deposit with bank.

(e) He earned winnings from lotteries 15,000 and also winnings from

chess game ¥ 3,000.

() He received 3 12, 150 as interest on debentures of a company (unlisted).

(8 Received X 2,7 00 as interest on tax free debentures of a company listed

in a stock exchange.

(h) Intereston Government of England Bonds T 5,000.

9
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@)
0)
(k}
()

(m)

Interest on PO SB account ¥ 500.

Interest on the Central Government Securities ¥ 9,000.

He received T 500 per lecture for 20 lectures delivered in a college.
Income from undisclosed sources ¥ 50,000.

Collection charges paid on interest ¥ 200.

TRU0OR B 39R BT S»LICHOT, FUIBOR Sds 2015-20168 938 Zoeony
esmaab:iaigt dﬁd 08D :

(a)
(b)

()

(d)

()

(®

(g)

(h)
(i)
0)

U

(m)

Po83e0d Fomod Bedone $oedT eezgeos B, 8,000.
QoD3TdENRIN WIE SedINY ymead Sw. 4,000.

SFOTR Wl e, 323030y, 8ES B donent B, 6,000 RIS,
oo BRBENDEEOE 1/3 Forias) 23008 Sondn te. 3,000 Ko war
BRHIRT. BERD L) TV ST 3011 B, 1,500 303, 243, Sorsads Bed
38,6, 2,700 $RH50RY.

W, 03T VSH BT Doedd Wi IPBR) dwe. 10,000.

8537 obid RendsT ndd dn. 15,000 :.i):&)_, ¥55 skE nYd dno. 3,000?&2L Y.
amoamaod.

FozA0d Borsoney Soed W& SPB) 8w, 12,150.

Bedh A0l Feon W cinBeITn INBE Fosdabh Belorsvndos de. 2,700
wWBOLR), BB,

01{0t5° XOTOR weorInY Heds W& dw. 5,000.
028 Feied evza0d) amdalhy 2@ de. 500.
geol, 30500 a3 I3 Boeds u&a 8. 9,000.

130 mdma&moddq mﬁméﬁﬁvdgl &c&d%, 33 soz'amzs’;sig 8B, 500 dod
20 emﬁa%ﬁdv amobﬁdgt anan%ss.

:imoﬂvdgl FTEsRE eswmeod dwe. 50,000.
u&a TRRTII0D BNy T, 200r1q,i613l TOWIOD BRBCOII.

10
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11.

SECTION - D/ 2wen - &

Compulsory question (Case Study) : (1 x 15 =15)
dmaoh 38, (FFVN BG00T) :

Anand of Bengaluru furnishes the following information for the previous year
7014-2015 in connection with a capital asset :

Year of Purchase — 1983-84
Cost of Purchase — ¥ 2,32,000
Year of Sale — 2014-15
Selling Price —_ Z 25,96,000
Selling Expenses — T 12,000

He purchased a new residential house for I 5,00,000 on 1.3.2015. The cost
inflation index for the previous year 1983-84 is 116 and for the previous year
2014-15 is 1024.

Questions :

(a) Compute the taxable gain for the assessment year 2015-2016.
(i If the capital asset sold is residential building.
(i) If the capital asset sold are listed debentures.
(i) If the capital asset sold are listed debentures.

(b) State the reasons for getting different taxable long term capital gains for
the above mentioned assets sold.

230MgR08 BTOT HOWSITI 2014-20158¢ smeod IAFY, Bowods Sb3abR), (20w
woRdmed 31t BowohrBed) B Fnsod otipes -

200D IRE . — 1983-84
DOed 1, — T 2,32,000
IP0G IJF — 2014-15
300 B —_ T 25,96,000
SIP0E3T DWOF —_ T 12,000

HPoER woRy BAB JRE oo, fmeoe 1.3.2015 dodd Ca. 5,00,0001%
DDeDHEY. W3S AR08 S8 1983-84 I3, 116 R 2014-20158¢ &wsod
338, 1024 Q003T.

11 P.T.O.
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B3N

(@) 2014-20158¢ FoosdiBoh SR, 30111t WIBRINBITOT WORZE RYPIRY, BOBO
&BOVD :

H 208 Sed INOB woBeY B0l TIB SeEINGY
(i)  20m) Se<d I00a woBTY By0dw ByIoeNGs
(i) 2080 Scd 0 woBTY B0 FLoTLR POTYrivaNty

(b) @ FHedd IS IPovtITT SANPNET 30 w¥BET Degrer3) wormed
0y Wes w3ed SrOHBY, @dmm@t DS0HD.
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